Duty Cycle Quiz Name / -

1. T'ind the operating time for a machine with a 60% duty cycle at 150 amps d/
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4. Tf you bave a machine rated 60% at 175 amps and need to work at 225 amps, how long will
you be able to operate the machine with it overheating? b 60 A ( 175 % 3(0‘/; “* IOh‘l:A
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5. If you have a machine rated 60% at 150 amps and only need 90 amps for the job, how long
will you be able to operate the machine before burming out the transformer?
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6. There are two welding machines in a shop. One has a duty cycle rating of 60% at 150
amperage while the other machine has a 90% duty cycle at 125 amps. You are planning a job
that needs to operate at 175 amps and need to get it done as soon as possible. Which machinc
should you use? Show your work and give an explanation.
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